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canvas.onmouseaown=runcrioni(e)1
var cor=windowToCanvas(e.clientX,e.clientY);

1T (7sPoTntInImgR(cor)&&pause)
dragging=true;

_I/X "L—I_ / =\ \EQ mousedown.offsetX=pic.w-cor.x;
DY Y }
s
function start(){ canvas.onmousemove=function(e){
if(pause){ let cor=windowToCanvas(e.clientX,e.clientY);
1f (dragging){
pause=false; - N
canvas.style.cursor="pointer"”;
setinterval(run,10); updatewid(cor) ;
} setInterval(run2(),1);
} }
function run(){ else{
if (1 pause) 1f(7sPointInIimgR(cor)&&pause)
canvas.style.cursor="pointer"’;
ctx.clearRect(0, 0, 500, 300); }
pic.w = (picw0-300) * Math.exp(-0.22 * else]
timer += 0.001; canvas.style.cursor="auto';
dra(Q); }
} }
} T
canvas.onmouseup=function(e){
1f(dragging){
dragging=false;
var cor=windowTocCanvas(e.clientX,e.clientY);
updatewido(cor);
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ctx.beginPath();
ctx.moveTo(ori.x,ori.y);
ctx.lineTo(or7.x+0.15,p7c.w-300+100);
ori.x+=0.15;

ori.y=pic.w-300+100;
ctx.l1inewidth=1;
ctx.strokeStyle="black";
ctx.stroke();



W IT RO

e

2020/4/5

o] AFE il s B o 2T BK
BN eI =
Er—EKETUN
&, F ARSI

fill

=5

WEK, WIEEE

77~ YOU success!



function run(){
if (! pause){
cleararc();
beta=gamma/?2;
omega=Math.round(Math.sqrt(k*k-beta*beta));
srsalert(beta);
ssalert(omega);
pic.w = (p7cw0-300) * Math.exp(-beta * (timer)) * Math.cos(omega * (timer)) + 300;
timer += 0.001;
draQ);
if(timer>=timer2) {
out = true;
timerl += 0.001;
updatecCircle();
drawcircle();
if((circle.x-circle2.x)*(circle.x-circie2.x)+(circle.y-circle2.y)*(circle.y-circle2.y)<=10000){
alert("You success!');
pause=true;
window.location.reload();
}
1f(circle.x>1950| | circle. y>650){
alert('You fail');
pause=true;
window.location.reload();
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else{
updatecircle();

drawCircle();
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